6. DNA - Bakteriengenetik
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DNA Replikation

Gentransfer in Bakterien




2. Welcher der folgenden Satze entspricht der Chargaff-Regel?

A) Die Menge von Purinen (T und C) entspricht der Menge an Pyrimidinen
(A und G).

B) Die Menge von Purinen (T und A) entspricht der Menge an Pyrimidinen
(Cund G).

@ Die Menge eines einzelnen Nukleotids bestimmt nicht die Menge der

anderen Nukleotide.

D) Die Mengen aller Nukleotide sind gleich.

E) Keiner der obigen Satze.

Erwin Chargaff:

1. Die Gesamtmenge der Pyrimidinnukleotide
(T+C) entspricht der der Purinnukleotide
(A+G)

2. Die Menge an T ist immer

3. C

A
G




2. Welcher der folgenden Satze entspricht der Chargaff-Regel?

A) Die Menge von Purinen (T und C) entspricht der Menge an Pyrimidinen
(A und G).

B) Die Menge von Purinen (T und A) entspricht der Menge an Pyrimidinen
(Cund G).

C) Die Menge eines einzelnen Nukleotids bestimmt nicht die Menge der
anderen Nukleotide.

D) Die Mengen aller Nukleotide sind gleich.

E) Keiner der obigen Satze.

Pyrimidine + pyrimidine: DNA
too thin

Purine + pyrimidine: thickness

|
I
I
|
I
Purine + purine: DNA too thick |
I
I
I
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compatible with X-ray data |




3. Durch welches Experiment wurde gezeigt, dass die DNA-Replikation
semikonservativ erfolgt?
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Beispiel Blut:

Blut

vor Z.

Dichtegradientenzentrifugation

nach Z.

v

Plasma

Mononukleare
Zellen

Erythrozyten
Granulozyten

Beispiel Casiumchlorid:;

2 M CsCl 0.5 M CsCl
density = 1.5 g/mL density =1.2 g¢/mL

Centrifugation >

3 M CsCl
density = 2.5 g/mL

Meselson und Stahl (1958):

1. 15N-DNA Zellen in 14N-Medium
2. Nach erster Zellteilung zentrifugieren
3. Nach zweiter Zellteilung zentrifugieren



(a) Predictions of semiconservative model (b) Predictions of conservative model
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"The most beautiful experiment in biology'
[John Cairns]

(a) Predictions of semiconservative model

Parental 1st generation  2nd generation
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F16. 4—a: Uliraviolet abaurptlon photngraphs shumng DNA bands resulting from density-
gradient centrifugation of lysates of bacteria sampled at various times after the addition of an ex-
cess of N4 substrates to a ng N"-labeled culture. Each photograph was taken after 20 hours
of centrifugation at 44,770 rpm under the conditions deseribed in the text. The density of the

CaCl solution inereases to the right. ions of equal dengity oceupy the same horizontal position
on each ph. The time of sampling is measured from the time of the addition of N in
units of the generation time, Tll.e;enmuontmeafurErmmenta und2wereautnnn.tedfmm
the measurements of bacterial growth presented in Fig. 3. Microdensitometer tracings of the

DNA bandes shown in the n.d,’nnent ph hs. The mmdmtometer displacement above
ﬂlehnehnend]mul.ly nal to the concentration of DNA. 'l"’lmdag:’aeuil:i.I::iexl.lﬁ:'::lt;;:lIr
species of oorreapond to the relative position of its band between the bands offul.ly

mdunlabeledDNﬁ.ahownmthaluwwmmtfm which serves as a density
thacmclumnﬂmttheDNAmthebnudaimteme-dlatedendtyisJuathalflaheledhpmdedby
the frame showing the mixture of generations 0 and 1.9. When allowance is made for the relative
n.motmtanfDNAmthethree u;:mkofmtermedjatadmmtylsfonndmhewmemdnt
50 == 2 per cent of the distance between fand N

Meselson & Stahl (1958), PNAS



1. Zeichnen Sie eine Replikationsgabel bei E. coli. Kennzeichnen Sie dabei die alten

und neuen DNA-Strange sowie die Position der Primer.

Topoisomerase |

Lost Knoten, die durch das
Offnen der Replikationsgabel

Offnet die Replikationsgabel

Next Okazaki fragment will start here.

Replication entstehen
fork
movement
Helicase
Synthetisiert RNA
Primer fiir 3'OH RNA primer
attachment site Primase
fur DNA
Nukleotide e
> N
/,/
k g
4
Clamp ‘
DNA
Leading strand polymerase
Il dimer
Elongiert neuen

DNA-Strang vom
Primer 3‘OH aus

Bindet einzelstrangige]
DNA — Reannealing
verhindern

A
RNA primer

Okazaki
fragment
' Single-strand binding
proteins

| DNA
polymerasel
RNA Primer — DNA

Lagging
strand

Ligase

Verbindet die Okazaki Fragmente durch
Versiegelung der Bruche im Zucker-
Phosphat Ruckgrat der neu

synthetisierten DNA

1. Primase synthesizes short RNA oligonucleotides (primer)
copied from DNA.
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¥ N A or 3
. 5" "RNA primer
5 (8-12 nt)
3!

2. DNA polymerase lll elongates RNA primers with new DNA.

srrr New DNA

3,

-
Okazaki fragment
(1000-2000 nt)

3. DNA polymerase | removes RNA at 5’ end of neighboring
fragment and fills gap.

4. DNA ligase connects adjacent fragments.

“
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Replizierendes Bakterienchromosom

Chromosome after one round of replication
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Autoradiograph Interpretation

Chromosome during second round
of replication

Replication forks
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Autoradiograph Interpretation John Cairns, 1963



4. Wie werden bei Eukaryoten Telomere repliziert?

Problem: verschieden lange Chromosomenenden!

iSynthesis of primer

3'0OH
1Elongati0n of DNA

When the primer at the end of
a chromosome is removed,... Removal of primer

5!‘

Y
( ...there is no 3'-OH group to which DNA j Gap left by
p.

nucleotides can be attached, producing a ga :
primer

Conclusion: In the absence of special mechanisms,
DNA replication would leave gaps due to the
removal of primers at the ends of chromosomes.

removal of

3}



% parental strand .
ITTGGGGTTGGGGTTGGGGTTG

'AACCCE'“ incomplete, newly synthesized lagging strand
TELOMERASE
BINDS .
0 ITTGGGGTTGGGGTTGGGGTTG direction of
| IAACCCC ACCCCAAC telomere
5 3/ 5 synthesis
TELOMERASE

EXTENDS 3" END
(RNA-templated
DNA synthesis)
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COMPLETION OF

LAGGING STRAND

BY DNA POLYMERASE
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DNA synthesis) Y y
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IAACCCC CCCCMCCCCMCCC%
2

-
DNA

polymerase

telomerase with bound RNA template




5. Wie liegt der F-Faktor in Hfr-, F*, F- und F'-Stammen vor?

F-Faktor:

Die Fahigkeit genetisches Material
auf andere Bakterien zu
Ubertragen.

F-Plasmide des Donors
regulieren die Synthese von Pili,
die den Kontakt mit den
Empfangerzellen initiieren

- Porenbildung fur DNA-Transfer

Sequences that regulate
insertion into the
bacterial chromosome:

52—,
153 H‘. .
s,f,r\ &) tra: Transfer Funktionen
(7 4 ® oriT: origin of transfer
Cenes that '\':.':" ' v ' '
eguine ) £ oriV: origin of replication
tansfer | 12 |S: Transposons — Integration
AN Comeol ™
B L
oriV {origin
Origin of of replication
transfer nec
F factor ree

The F factor, a circular episome of E. coli,
contains a number of genes that regulate transfer
into the bacterial cell and insertion into the
bacterial chromosome.



5. Wie liegt der F-Faktor in Hfr-, F+, F- und F*-Stammen vor?

F-Faktor: 2 J
Die Fahigkeit genetisches Material R\ DonorF* / Bacterial
auf andere Bakterien zu ‘ chromosome
Ubertragen. LN

: Pilus
F-Plasmide des Donors ~
regulieren die Synthese von Pili, Plasmid — ™

die den Kontakt mit den
Empfangerzellen initiieren
- Porenbildung fur DNA-Transfer

Recipient F-
Ft cell Bacterial Hfr cell
chromosome
In F*-Donorstammen liegt der F-Faktor
als extrachromosomales Plasmid vor.
— | = | In F-Empfangerstammen existiert kein
@ u F-Faktor.
/
A F factor I,-“:." fh

. Hfr-Stamme haben den F-Faktor in ihr
Wirtsgenom integriert.

|I'II
The F factor is integrated
into the chromosome,

/
Crossing over takes place between
F factor and chromosome.,

The F factor is integrated into the bacterial
chromosome in an Hfr cell.



In F‘-Stammen wurde der F-Faktor wieder aus dem Hfr-Chromosom
herausgeschnitten und liegt als rekombinantes F-Plasmid im

Cytoplasma vor:

When the F factor excises from the
place within the bacterial chromosome, it may carry some
Hfr chromosame., bacterial genes (in this case /ag) with it.

Hfr cell \ cell
F factor
f
//\ \mc

Crossing over takes |

S
— fﬁf
lac >
Bacterial chromosome Bactérial
with integrated F factor chromosome

An Hfr cell may be converted into an F cell
when the F factor excises from the bacterial
chromosome and carries bacterial genes with it.



6. Welche Moglichkeiten des Gentransfers bei Bakterien kennen Sie?

Konjugation Transfer von DNA zwischen zwei Bakterien uber direkten
Zellkontakt

Transformation DNA wird aus umgebendem Medium aufgenommen und
ins Genom integriert

Transduktion  Transfer von einem Bakterium zu einem anderen uber
einen Virus




Konjugation A: F* Zelle ubertragt F-Faktor auf F-Zelle

6. Welche Moalichkeiten des Gentransfers bei Bakterien kennen Sie?

(@) (b) (©) (d) (e)
F cell F~cell
{donor (recipient
bacterium) bacterium) F* F F* F F* F F*
\ e e g’ e e
O lon ot oD
f \ |
."!I \\\x ":::I II::" \ ,l,l
F factor  Bacterial i \ ‘\ i
chromosome f,a“:.n"l ' '. RH\ ,u".'l
I . II| I' - Il
During conjugation, a [Dne of the DNA | | Replication takes || The 5" end of ...where the ..producing a TheF cell
cytoplasmic connection | | strands onthe F || place on the F the nicked DNA | | single strand CII‘CUlEIF double- | | now
forms between the F* factor is nicked || factor, replacing passes into the is replicated.... | | stranded copy
and the F-cell at an origin the nicked strand. | | recipient cell... | ~
' |and separates.

becomes F+
ofthe F plas.rnlcl




6. Welche Moglichkeiten des Gentransfers bei Bakterien kennen Sie?

Konjugation B:
Hfr Zelle Ubertragt Teile des Genoms auf F-Zelle

(a) (b) (c) (d) (e)
Hfr cell F~cell Hfr cell F cell
I TIncorrect, . —_— —_— - I — a
\ alleles ‘\—* (L “ “ / \\ » &
r ; i f
/ | fou N
J = / ) N
| \ | / | it V4 (
- i ! i .
Bacterial y I Hfr chromosome I i / |
chromosome\‘,a I (F factor plus 'll i / II.I|
i\ fl bacterial genes) || [f I/ Il
".\'., | I| L il _.l"'-"l ]
In the Hfr cell, the In conjugation, Fis The transferred ..thecells | |...and crossing over | | Crossing over The linear
F factor is integrated nicked and the 5 strand s separate,...| |takes place between | | may lead to chromosome
into the bacterial end maoves into the replicated,. .. —— | the donated Hfr recombination is degradec.
chromosome, F- cell. ) chromosome and of alleles (bright
: the original chromo- | | green in place of
(some of the Fcell. | | black segment).

Bacterial genes may be transferred from an Hfr cell to an

F- cell in conjugation.



6. Welche Moglichkeiten des Gentransfers bei Bakterien kennen Sie?

Generelle Transduktion &

a-l-

Om

Donor bacterium

Transduced bacterium

donor genes

Phages carrying

Recipient bacterium



6. Welche Moglichkeiten des Gentransfers bei Bakterien kennen Sie?

Transformation:

(b) Transformation

| Haked DN& i | & crossaver in | ...creation of |
" takan up by the the bacteriom a recombinant N
racipient call. leadsto... | chromasome. |
DHA 1l,|I
fragments /J_,..-—-'——'_"_"'-a.))
INY | |
N 1 Sy
i = > — |
o N
. &
DNA-binding
complex
Nucleotide

Cell wall

Cytoplasmic{
membrane

Free DNA
from dead
bacterium

%m@:%hm \ 2

Chromosome

DNA-degrading
enzyme

Transformed Transferred
bacterium DNA




6. Welche Moglichkeiten des Gentransfers bei Bakterien kennen Sie?

Konjugation, Transformation und Transduktion
sind dreil Prozesse zum Gentransfer in Bakterien.
Alle drei* Prozesse beinhalten, dass die
transferierte DNA mit dem bakteriellen
Chromosom rekombiniert, um stabil ins
Wirtsgenom integriert zu werden!

*bis auf F*- und F-Konjugation



7. Wie und wo integriert der F-Faktor ins bakterielle Chromosom?
Wo?

Integration des F-Plasmiden ins eigene Bakterienchromosom - Hfr:

r

” Integrated F

Spezifische Stellen im Bakterienchromosom sind
homolog zum F-Plasmid - "Integration Sites’



7. Wie und wo integriert der F-Faktor ins bakterielle Chromosom?
Wie?

O Homologous
<« :
regions where
pairing can
take place 2

E. coli
chromosome



8. Welche Stamme entstehen bei folgenden Kreuzungen?

FfxF = F* + F°
Hfr x F
F'xF

(@) (b) (c) (d) (e)
Ftcell Fcell
{donor (recipient
bacterium) bacterium) F+ F- F+ = = F- F+ -+

l

O

F factor Bacterial
chromosome

During conjugation, a One of the DMNA || Replication takes || The 5" end of ...where the ...producing a The F~ cell
cytoplasmic connection | | strands on the F || place on the F the nicked DNA | | single strand circular, double- || now
forms between the F* factor is nicked || factor, replacing || passes into the is replicated.... | | stranded copy becomes F*.

of the F plasmid.

at an origin the nicked strand.

and separates.

and the F- cell. recipient cell...




8. Welche Stamme entstehen bei folgenden Kreuzungen?

FFxF - FF+ FF
Hfr x F— Hfr + F

F'x F
(a) (b) (c) (d) (e)
Hfr cell F~cell Hfr cell F~cell
“NHH ncc{rrrect = s = T =
o \ — — —
) alleles ) (L % )‘ / \ “ @
: i Q
, | - / / 2
|
I|r | |||| ,-"If |I| I|'||J {
Bacterial I Hfr chromosome |||| I |
chromosome I|'I (F factor plus I | |'I|I
\ (l bacterial genes) || f [l
\ | | /! ||I
In the Hfr cell, the In conjugation, Fis The transferred ..thecels | | ...and crossing over | | Crossing over The linear
F factor is integrated nicked and the 5' strand is separate,... | |takes place between | | may lead to chromosome
into the bacterial end moves into the replicated.... the donated Hfr recombination is degracled.
chromosome, F= cell. chromosome and of alleles (bright
) the original chromao- | | green in place of
 some of the F~ cell. black segment).




8. Welche Stamme entstehen bei folgenden Kreuzungen?

FF*xF - F* + F*
Hfr x F> Hfr + F

FFXF S F' + F Crossing over takes
place within the
Hfr chromosome.

When the F factor excises from the
bacterial chromosome, it may carry some
bacterial genes (in this case lac) with it.

Hfr cell F' cell

\

lac

SESRY

\_/

Bacterial chromosome Bacterial
with integrated F factor chromosome



9. In E. coli ubertragen vier verschiedene Hfr Stamme die aufgelisteten Marker in der
dargestellten Abfolge:

Stamm 1: QWDMT
Stamm 2: AXPTM
Stamm 3: BNCAZX
Stamm 4: B QWDM

Bestimmen Sie die Abfolge der Gene/Marker auf dem circularen Chromosom.

(a) Hfrl
Transfer always R in Hfrl, Fis integrated (b) Hfr5
begins within F, between the leu and
and the orientation azigenes;. ... In Hfr5, Fis Ir"ltegratecl rhr
of F determines the 7 between thiand his.
o rhr
direction of transfer. - rhr ~!eu
thi - leu §
%
' —F factor
F factor —— , his azi
his azi __—Chromosome
_——Chromosome ERF has the opposite
orientation in this \ ¥ /
a!é me chromosome; so the gaa’s 'ﬁ?m
...50 the genes g genes are transferred lac
are transferred lac beginning with thi.
beginning with lewu. : l
leu thr thi his gal lac pro azi fif rir fﬂv" azi ﬁiﬂ lac Ei‘:” his
a4==2: === d=====F==-==

Genetic map Genetic map



9. In_E. coli Ubertragen vier verschiedene Hfr Stamme die aufgelisteten Marker in der
dargestellten Abfolge: oriT

Stamm 1: QWDMT<QWDMT
Stamm 2: AXPTM‘AXPTM

Stamm 3: BNCAX‘BNCAX

Stamm 4. BQWDM‘BQWDM

Bestimmen Sie die Abfolge der Gene/Marker auf dem circularen Chromosom.

4BQWDM
<QWDMT




10. In_einer Kreuzung (Hfr x F-) ist leu+ der erste Marker der Ubertragen wird. Die lineare
Abfolge der anderen Marker ist unbekannt. Der Hfr Stamm ist fur alle Marker prototroph,
wahrend der F-Stamm fur alle untersuchten Marker auxotroph ist. Welches ist die Abfolge
der Marker wenn auf leu- selektiert wird? Von den untersuchten Individuen sind 27% ile+,
13% mal+, 82% thr+ und 1% trp+.

?An Hfr cell with genotype str°| ... was mated with a F~ cell |
thr* leu* azi" ton" lac* gal®... with genotype str” thr~ feu™ . . . -
(@ Vg | az*tor lac gal- A - Je naher Marker an Ori, desto hoher
ton 28 Cens transferred: Wahrscheinlichkeit des Transfers
lac'll | S {fi:SI,SSILéct,eiingeilgs . .
sart ,Qje;. defined as zero time) - spontane Bruchpunkte kreieren einen
ton'gy TN , naturlichen Transfergradienten
jact® ;l thr™ =y st Conjugation was
&7 ey \ lew interrupted at . . .
ga " | regular intervals. - Die Frequenz von Rekombinanten ist
2 eacteria eine Funktion der Anordnung im
l " hrt leu™ + - . . e .
S | o S| separate | TS Verhaltnis zum Ori flr jeden Marker
'\i ) 3 azi’
| ll‘: ) Ej;;?;iti ton' thr* fefar +/f5rr+
10 min | = — |
i azi'
& <. - Reihenfolge = leu+ - thr+ - ile+ - mal+ - trp+
7 Bacteria
oy ton" thr* leu* str*
16 min | eq oo |, momen S
(. . lact azi'
] "‘f Y. f;;;?;i; gal™* ronrrhr:{?u:s?r*
25min | o8 - pa — B BR 1ii
i W )} lact azi'




11. Sie kreuzen einen Hfr Stamm (met+ thi+ pur+) mit einem F- Stamm (met- thi- pur-). Das
Unterbrechen der Kreuzung an verschiedenen Zeitpunkten zeigte, dass met+ zuletzt in die
Empfangerzelle gelangt. Rekombinanten werden auf Medium ohne Methionin selektiert. Es
treten folgende Genotypen auf;

met+ thi+ pur+ 280

met+ thi+ pur- 0

met+ thi- pur+ 6

met+ thi- pur- 52

a) Warum enthielt das Selektionsmedium kein Methionin?
b) In welcher Reihenfolge liegen die Gene vor?
c) Was sind die genetischen Abstande in Rekombinationseinheiten?

- met+ ist der letzte Marker, der in die Empfangerzelle transferiert wird

- Selektion auf met+ stellt sicher, dass alle anderen Loci dieser Kreuzung
bereits transferiert wurden

- alle thi- oder pur- Genotypen mussen demnach durch Rekombination
entstanden sein

da met+ als letztes transferiert wird, sind nur 2 Folgen moglich:

met+ pur+ thi+ met+ thi+ pur+
| |
I I | | I |

" l l I '"," \‘“" : : =

J 3 $
met- pur- thi- § met- thi- pur-



- eine der 4 moglichen Rekombinantenklassen benotigt neben den 2 Cross-
overs zur Integration der transferierten DNA zwei weitere Cross-over Ereignisse

met+ thi+ pur+ 280

met+ thi+ pur- 0 <{u—

met+ thi- pur+ 6
met+ thi- pur- 52

Met* 15 4 mu, PU* 1.8 mu. 1*
| | |

& I
{ met- pur- thi-

N =338
met+ pur- thi- = 52/338 = 15,4 m.u.

met+ pur+ thi- = 6/338 = 1,8 m.u.
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